E =

RH—AEREBRRI, AR

HEBRLREGXETRAER

—. EFEE (20 41)

L XEEREL w = In(1 + 2) ZEERE, HIFEHRE:
(1) arg z 49 3 fhM; (2) arg(1 + 2) 49 % 1AMk
(3) z WY RABLTAH T 5 (4) 14 z B9 BALT A .

2 WERHL f(2) FEEHERIKE G WIRHT, C b G A BORE L, Moy AR B, WFG /C F(2)dz
(1) BARABEEE, 18555 EHA £,
(2) BARAEA £, 18555 AR £
(3) 543412 B am B AR T K
(4) HAny-3 12 B 5% 6 ARG A £.

3. HEREL f(2) TE = = a KR,

fla)=f(a)=---=f""D(a)=0, f"(a)#0,
MBREL f'(2)/f(2) 1E 2 = o HETEECH
(1) 1-n; (2)n—1;
(3) —n s (4) n.
4z =00 i fz) = Sirllz ‘
(1) —Fr# & (2) A ¥
(3) FEAT & (4) FE =4 5.

5. T(2)[(1 — 2) = ﬁ 9 Rl S X 48

(1) &-Fd; (2) #HEIK 0 < Rez < 1;
(3) &#+-F@ Rez >0 (4) Z4-F@ Rez < 1.

= (105) BAARBTERE f() EESERN OB DEEER LIRS () = 5, R F(2).



.

1.

2 g o — oo WOATBUURE NS, B In
z+1 z+1

Z=00

(20 43) ¥ pREL In

(10 43) T A
00 dx
(1) /_(><> (22 +1)(22 — 2w cosf + 1)

o [

,0<O<m HO#m/2.

muﬁaﬂf@%élwmmaw,ﬁ*ﬁﬁ%ﬁ%ﬁ@%ﬁ&ﬁF@.

=0.



